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For this paper you must have:

e mathematical instruments.

You must not use a calculator.

Time allowed
® 1 hour 15 minutes

Instructions

® Use black ink or black ball-point pen. Draw diagrams in pencil.

e Fill in the boxes at the top of this page.

® Answer all questions.

® You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages.

® Do all rough work in this book.

Information
® The marks for questions are shown in brackets.
® The maximum mark for this paper is 66.
® The quality of your written communication is specifically assessed
in Questions 4 and 5. These questions are indicated with an asterisk (*).
® You may ask for more answer paper and graph paper. These must be
tagged securely to this answer booklet.

Advice
® In all calculations, show clearly how you work out your answer.
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2 Do not write
outside the
box

1 (a)

1 (b)

1 (c)

I

Answer all questions in the spaces provided.

The table shows the charge for taking a suitcase on a plane.

Weight of suitcase Charge
Under 15kg Free
15kg — 22kg £20

£20 plus £5 for each extra kilogram ,

Over 22kg or part of a kilogram over 22 kg

Work out the charge for a suitcase that weighs 24 kg. ‘

20+ B(24-22) = 20 + s5(2) = P20

Work out the charge for a suitcase that weighs 24.3 kg.

Answer £ 35 ....................................................... (1 mark) |

Jack has two suitcases.
He pays a total charge of £70.
One suitcase weighs 21 kg.

What is the most the other suitcase could weigh?

........................................... o e
o ey . , - .

= FO-HO - GRg. 22+ 6=7¢kaq

............................. Tt R TR o 3.

PAABWET' 5 csismmusics ceismsnin swmsinssimnamens 9\@ .................. kg (3 marks) |
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2 Solve 8(x +3) =36
......... e IE T A
Doz 2672 L - B e LB
¥ Y o
x= l5 ................................................................. (3 marks) |
3 Tick the correct box in each row.
Always Always Can be
odd even odd or even
Cube numbers \/
Prime numbers greater than 100
Factors of odd prime numbers
(3 marks) |
) - ) - - - - 12

Turn over p

M
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4
| *4 Here are two adverts for biscuits.
Super Snacks Cookie Club
£3.40 per box £3.09 per box
OFFER  40% off OFFER % off

Which is cheaper, Super Snacks or Cookie Club?
You must show your working.

2 - ‘
Answer ...... Squb nd‘Ckg ............... (5 marks) |
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*5 The distance-time graph represents a journey Alf makes.
A
200 i
180 = |
160 g
140
120 =
Distance v
: 100
(miles)
80
60 /’
e
40 =
20 //
0 >
10am 11am noon 1pm 2pm 3pm |
Time
Alf claims that he stopped for less than one-quarter of his total journey time.
Is he correct?
You must show your working.
Jakal ldoneney | Ome.. = Dhes
S‘tonc\E)g, thone = 1+ 5 hes
I S ~ Yo~ R S
=) ¥'s)
,__3___ . (\\F LS incorreck .
............. '('DL‘"/
(3 marks)

Turn over p
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6 (a)

6 (b)

L

x=-3 y=4 and z=-5

Work out the value of x+2y-3z

Answer ....... Q\O ..................................................... (3 marks) |
=4 1 -2
d—5 e=7 and f—5
Work out the value of d+exf 1
, | ;
___Lr___*__g_\_x_z_:_ ...... ——L-f—-i" ..... ——2—'—— ....................................................
5 5 S [
= _‘jf__ -+ __'_:_. = I ‘
................... §5 :
Answer ......... 1 ........................................................... (3 marks)
x is a square number.
Write down the values of x where 50 <x <100
2
R°= 64
Q= T
and |
Answer ...... GH’Q ......... <8| ........................... (2 marks) |
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8 (a) Simplify a®® x a®

2% ;
Answer ....... OL ........................................................... (1 mark) |
o 720
8 (b) Simplify -
s
Answer ...... (1. ............................................................ (1 mark) |
8 (c) Simplify (a?%)"
oo ‘
Answer ..... Q’ ............................................................ (1 mark) |

9 (a) Rearrange f=3g+2 to make g the subject.

Answer (2 marks)
9 (b) Multiply out ¥4 - %)
2 3
X = 2
Answer ..... Lk ............................................................. (2 marks) |
Turn over p
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10

Solve the simultaneous equations.
2xr+3y=10 .-+~ O
dx—-y=—-1 - - 2>
Do not use trial and improvement.
You must show your working.

Answer DC .......... gs ........................................... (3 marks) |

A
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box
11
y=2x+1
Not drawn
accurately
X
xty= -1
"
Yy 2 =D |

Work out the ratio of lengths AC : BD ‘
Crom.iospechon. 2l both soualions i the [Dom Yomukc
W% A St bk CO00K R foc A eadl ¢ aca. |
L)) 200l (9,71 cespeckivel, and 50 leodh fe=2
Coocdiaotes [oe B (3, 21300 = (3.3 ) |
Qeocdinates e D : (3,7370) 2 (3,74 ), a0d so
femgeh  BD = Folov) = LU o ACiBD= 2L
Answer ... D\ : ll .......... (4 marks) |
B - Turnr ;;er >‘
T
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12 (a) Factorise X2 +5x—24
|

12 (b)  Solve x2+5x—24=0

13 (a) Write  0.00072  in standard form.

13 (b) Divide 80 million by 20 000
| Write your answer in standard form.

B e L o e N R R L L L L E T r  E L

*DB, BLS |
.............................................................. 7_
Alternativel 2X 1O - 2 ¥ 1O = 3
SJW ............ _g_ .......... ID;_T, .......... H’Xlo .....

X 10°
Answer L'P' ................................................... (3 marks)

L
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15 (a)

15 (b)

x=0.77 and y=0.23

Work out the value of xc—y

Work out the value of V8 x V2

45T R I S S D (2 marks) |

L

Turn over p
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16

17

M

2x
....... lba-é’)¢-55650r5‘—|
—= X ecQ-S
e D E X v N AR o
5
Answer ......... 9\ D(’ ................................................... (3 marks)
You are given that (2x + 1)(ax + b)=6x° - 5x + ¢

Work out the values of a, b and c.
2x+)(@rb) = daxt & Qbx +ax + b

ane 2B+ 3 =-S" > b= -S-3 e
Lo S = e T il S
a= 3 b= —-—Lr c= ’L" (4 marks) '

WMP/Mar13/43602H
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18

i

Find two sets of values for ¢ and d such that

16¢ = 24

or C= v, and d= ? ...... (3 marks) |

END OF QUESTIONS

Turn over p
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